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1 |deiEE 11E+2 105.8 105.8
2 |EHEE 1.4E+1 14.4 14.4
3 | 5FER 1.0E+2 100.3 100.3
4 |=EE 4 5E+1 448 44.8
5 |MHE 8.1E+1 81.2 81.2
6 |WRZE 2.0E+1 20.1 20.1
7 |EEBR 71E+3| 1.4E+2 7,239.0 2.7E+4 27,000.0 34,239.0
8 |ZWE 1.2E+2 121.8 121.8
9 [HARE 5.4E+0 5.4 5.4
10 [HEE 1.2E+2 120.7 120.7
11 |BEE 3.5E+2 348.7 3487
12 |FEER 7.2E+0 7.2 7.2
13 | AR 1.0E-1 0.1 0.1
14 |fRIE 5.5E+1 55.4 55.4
15 |#FiRE 1.1E+2 1145 1145
16 |SWE 7.0E+0 7.0 7.0
17 _|RBINE 1.4E+3 1,371.1 1.371.1
18 |[fEHE 5.3E+0 5.3 53
19 |ILBE
20 |EHE 4 5E+0 45 45
21 [IHBE 2.6E+2 262.3 262.3
22 |EEE 1.7E+2| 9.5E+1 264.6 264.6
23 |BHIE 1.7E+2 167.6 167.6
24 |[ZEE 9.7E+0 9.7 9.7
25 |HER 1.4E+1 13.8 138
26 |FREBAT 9.8E+1 98.0 98.0
27 | KBRFF 5.0E-1 0.5 0.5
28 |EER 46E+2| 1.7E+2 629.0 629.0
29 |&ZRE 1.6E+0 1.6 1.6
30 |fnERLE 8 4E+1 84.4 84.4
31 |EmE 2 1E+1 21.1 211
32 |BiRE 8.5E+0 8.5 8.5
33 |[EWLER 3.4E+3| 2.0E+1 3,420.3 3,420.3
34 |ILER 1.9E+0 1.9 1.9
35 [wOg 3.6E+1| 8.0E-1 36.8 36.8
36 |EER 2 8E+1 28.4 28.4
37 _|FBINER 7.0E-1 0.7 0.7
38 |BRER 1.2E+2 115.2 1152
39 |[ExE 1.7E+2 172.2 3.0E-1 0.3 1725
40 |fEEE 4 7E+1 473 473
41 |#EER 11E+2 113.9 113.9
42 |RBE 1.2E+1 11.9 11.9
43 |RERIE 2.4E+2 241.2 2412
44 | KHE 2 5E+2 2545 2545
45 |=igE 2.3E+4| 7.9E+1 23,078.7 3.0E+4 30,000.0 53.078.7
16 |EREE 51E+1 50.9 50.9
47 ipieiR 2.1E+1 20.6 20.6
& [F 3.4E+4| 48E+3 38.922.9 5.7E+4 57,000.3 95.9232

T BEIEAANEREL LTARICERL TS,

EE - TO7IRAN RS/ (A BREERV AT LBAWER




